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PROBLEM <wRitea pos.that

1) Definesmatrices
2) Imple

(2×2)
meatmultiplication of
2 such matrices

3) implements addition of
2 such wrathless

(laugh)
(Hint:Relative it as an

arrayof4"s



Whetarethose things take& matinessSifmatrix)?
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First nothing to dowiththefilm series
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matilyis anDefinitionarrangement ofnumberin aA rectangular
four
_ _

EXMAQXZliotrixhes2rowIQcolumnus
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Exam H3×2 matrixhas 3 ows &2 columns
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Arrangements ofIt's arenot rare. Wehave already seen
in math that apointon the planeisgiven by
2#'s arranged as an areordered pair(4.4)E,. : (41,225)

_ |Y,
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tExample: Agates in
QuauituWIComputationare

AndX,4,z,_ _ -theese are 2×2motives/

ButCNOTis4×4 matrix

Sframematrices



Multiplication of beZX2 matrices:
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Exercises Whet's BA? - At's?)B:\58)
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MHTRX MULTTPLibationHAS to Doto Do

with ROTATONS
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MATRIX ADDITION -
AF |3?) BAE:)
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